Estimate Sheet

IR ( Wakefield Bridge Steel Shingles )

COMPANY:

CITY:

CONTACT:

PHONE:

FAX:

JOB NAME:

JOB
ADDRESS:

Colour:

Steel Shingles

@ Eave / Starter
- Starter # 408 or # 815 (10 ft)

(@) Gable /Rake
- Starter # 408 or # 815 (10 ft)

-"J" trim # 916 (10 ft)

(3) wall Detail 90°
#1906 (10 ft)

@ Wall Detail (slope)
-#905 1P (10 ft)

- Hook # 804 (10 )

(5) Valley Detail
~Valley # 908 (10 ft)

() Hip Detail
- Cottage Roof

Cap # 910 (10 ft)

Total Roof Area

Total Boxes x $

Total Length

Total Length

Total Length

Total Length

Total Length

Total Length

Total Length

Total Length

+50=

per box = $

x$

x$

x$

x$

x$

x$

x$

x$

Boxes

perlin./ft = $
perlin./ft = $
perlin./t = $
perlin./ft = $
perlin./ft = $
perlin./t = $
perlin./ft = $
perlin./ft = $

Zx

=N
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@ Transition Detail

- #1905 2P (10 ft) Total Length x$ perlin./t = $
- Hook # 804 (10 ft) Total Length x$ perlin./t = §
(72) Transition Detail (Hip)
- #905 2P (10 ft) Total Length x$ perlin./t = §
- Hook # 804 (10 ft) Total Length x$ perlin./t = $
Ridge Details
- "Liberty" Ridge .
Cap # 214 (10 ft) Total Length x$ perlin./ft = §
- Ridge Vent (10ft) Total Length x$ perlin./ft = $
- End cap for Ridge Vent (pcs) Total Pieces x$ per piece = $
- Half Ridge # 912 (10 ft) Total Length x$ perlin./ft=$
- Hook # 804 (10 ft) Total Length x$ per lin./t = $
- Clip # 802 (10 ft) Total Length x$ perlin./ft = §
Accessories
- Backer Rod ( 25 ft roll ) Total Rolls x$ perroll =$
- Foam Strip ( 1/2"x1"x25") Total Length x$ perlin./ft = $
- Butyl Caulking ( 300ml ) Total Tubes x$ pertube =$
- Galvanized Screws 1" (flathead)  Total per/100 x$ per/100 =§
- Galvanized Screws 1.5" (flat head) Total per/100 x$ per/100 =§
- Pre-Painted Screws 1.5" Total per/100 x$ per/100 =§
- Flat Sheet (4'x 10") Total Sheets x$ per sheet = §
@ - Dektite "pipe" (#3, #4 & #8) Total Pieces x$ per piece = $
- Dektite "Chimney" (#8 HT ) Total Pieces x$ per piece = $
- Retrofit Dektite
"Hydro Mast" ( #802 ) Total Pieces x$ per piece = $
- Touch Up Paint ( 100z ) Total Cans x$ percan =§
- Sno-Diamond H=3.25" Total Pieces x$ per piece = $

Total Material Cost $

Note: Consult our installation manual
for more details on flashings Q’E
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and accessories.
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